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Group Marks : 400
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Part A

Section Id : 686340797
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401334
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 68634040514 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634040515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. el @1 faedR
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3. farg 3k digdeen
A, RISl

Options :

686340160001. 1
686340160002. 2
686340160003. 3
686340160004. 4

Question Number : 2 Question Id : 68634040516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160005. 1
686340160006. 2
686340160007 3
686340160008. 4

Question Number : 3 Question Id : 68634040517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
1S 1 o el & A1 gar3] -
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Options :
686340160009. 1
686340160010. 2
686340160011. 3

686340160012. 4

Question Number : 4 Question Id : 68634040518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160013. 1
686340160014. 2
686340160015. 3
686340160016. 4

Question Number : 5 Question Id : 68634040519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160017. 1
686340160018. 2
686340160019. 3
686340160020. 4

Question Id : 68634040514 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634040515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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TS o
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3. ooy ik gicdery
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Options :

686340160001. 1
686340160002. 2
686340160003. 3
686340160004 4

Question Number : 2 Question Id : 68634040516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340160005. 1
686340160006. 2

686340160007. 3
686340160008. 4

Question Number : 3 Question Id : 68634040517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. HIg-5ll-s!
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Options :

686340160009. 1
686340160010. 2
686340160011. 3
686340160012. 4

Question Number : 4 Question Id : 68634040518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340160013. 1
686340160014. 2
686340160015. 3
686340160016. 4

Question Number : 5 Question Id : 68634040519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. HIada®
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Options :

686340160017. 1

686340160018. 2

686340160019. 3
686340160020. 4

Sub-Section Number : 2
Sub-Section Id : 6863401335
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634040520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. Uiy
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4.%5

Options :

686340160021. 1
686340160022. 2
686340160023. 3
686340160024. 4

Question Number : 6 Question Id : 68634040520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340160021. 1
686340160022. 2

686340160023. 3
686340160024. 4

Question Number : 7 Question Id : 68634040521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B TR Sl 5 & e es & ST &

1. fed
2.3d
3. 34
4.5d

Options :

686340160025. 1

686340160026. 2

686340160027. 3
686340160028. 4

Question Number : 7 Question Id : 68634040521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR O 3URYT 5" & aiidhd Wea 4 IUH 87
1. Ryd
2. 3
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454

Options :



686340160025. 1
686340160026. 2
686340160027. 3
686340160028. 4

Question Number : 8 Question Id : 68634040522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160029. 1
686340160030. 2
686340160031. 3
686340160032. 4

Question Number : 8 Question Id : 68634040522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160029. 1
686340160030. 2
686340160031. 3
686340160032. 4

Question Number : 9 Question Id : 68634040523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160033. 1
686340160034. 2
686340160035. 3
686340160036. 4

Question Number : 9 Question Id : 68634040523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160033. 1
686340160034. 2
686340160035. 3
686340160036. 4

Question Number : 10 Question Id : 68634040524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160037. 1
686340160038. 2
686340160039. 3
686340160040. 4

Question Number : 10 Question Id : 68634040524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160037. 1
686340160038. 2
686340160039. 3
686340160040. 4

Question Number : 11 Question Id : 68634040525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160041. 1
686340160042. 2
686340160043. 3
686340160044. 4

Question Number : 11 Question Id : 68634040525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160041. 1
686340160042. 2
686340160043. 3
686340160044. 4

Question Number : 12 Question Id : 68634040526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160045. 1
686340160046. 2
686340160047. 3
686340160048. 4

Question Number : 12 Question Id : 68634040526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160045. 1
686340160046. 2
686340160047. 3
686340160048. 4

Question Number : 13 Question Id : 68634040527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160049. 1
686340160050. 2
686340160051. 3
686340160052. 4

Question Number : 13 Question Id : 68634040527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160049. 1
686340160050. 2
686340160051. 3
686340160052. 4

Question Number : 14 Question Id : 68634040528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160053. 1
686340160054. 2
686340160055. 3
686340160056. 4

Question Number : 14 Question Id : 68634040528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160053. 1
686340160054. 2
686340160055. 3
686340160056. 4

Question Number : 15 Question Id : 68634040529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160057. 1
686340160058. 2
686340160059. 3
686340160060. 4

Question Number : 15 Question Id : 68634040529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340160057. 1
686340160058. 2
686340160059. 3
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Question Number : 16 Question Id : 68634040530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340160061. 1
686340160062. 2

686340160063. 3
686340160064. 4

Question Number : 16 Question Id : 68634040530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160061. 1
686340160062. 2
686340160063. 3
686340160064. 4

Question Number : 17 Question Id : 68634040531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340160065. 1
686340160066. 2
686340160067. 3
686340160068. 4

Question Number : 17 Question Id : 68634040531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340160066.
686340160067.
686340160068.

AW N~

Question Number : 18 Question Id : 68634040532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160069. 1
686340160070. 2
686340160071. 3



686340160072. 4

Question Number : 18 Question Id : 68634040532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160069. 1
686340160070. 2
686340160071. 3
686340160072. 4

Question Number : 19 Question Id : 68634040533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340160073. 1
686340160074. 2
686340160075. 3
686340160076. 4



Question Number : 19 Question Id : 68634040533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160073. 1
686340160074. 2
686340160075. 3
686340160076. 4

Question Number : 20 Question Id : 68634040534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160077. 1
686340160078. 2
686340160079. 3
686340160080. 4

Question Number : 20 Question Id : 68634040534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160077 1
686340160078. 2
686340160079. 3
686340160080. 4

Question Number : 21 Question Id : 68634040535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160081.
686340160082.
686340160083.
686340160084.
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Question Number : 21 Question Id : 68634040535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340160081. 1
686340160082. 2
686340160083. 3
686340160084. 4

Question Number : 22 Question Id : 68634040536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160085. 1
686340160086. 2
686340160087. 3
686340160088. 4

Question Number : 22 Question Id : 68634040536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160085. 1
686340160086. 2
686340160087. 3
686340160088. 4

Question Number : 23 Question Id : 68634040537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (Sl fb alTg H HIRd 1 AP &) Ha4 Usd Sd 3R Bl 141 10
1. 24 SFGRI 1950 Bl sAREIG 5
2. 24 GHaR] 1950 FI fdeelt
3. 26 feTTaR 1942 B Hadar d
4. 27 fGEIaR 1911 DI Hadar 4

Options :

686340160089. 1
686340160090. 2
686340160091. 3
686340160092. 4

Question Number : 23 Question Id : 68634040537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST (Sl b STe H 1R W1 AP &) Ha9 Usd Ha SR Sel 11 112
1. 24 SR 1950 Bl SAREG H
2. 24 SaRt 1950 Bl foeedi
3. 26 3R 1942 B Herp<1
4. 27 [SUmR 1911 B Dl §

Options :

686340160089. 1
686340160090. 2
686340160091. 3
686340160092. 4

Question Number : 24 Question Id : 68634040538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sy RIS

YT 1 : e e & T0g 916 Aécacd YRd & ey Ul

FUA I : FIgs AR Tl H 6F aTd HRAG A1 [A818 1946 &1 HRUIIGW S50 Adl & YR Fifaa]
eRI IRHR & favg faar a1 fagie o1

IWRIE BYUF & Hdid H, Aid 14U 70 fadbedl I 9 9g! ) & 984 B

1. BRI IA 9T 8
2. HYAI R I A 3T

HUT I T T, AT BT S &

)

L]

4 PYTI IO e, AfpTRYT I T ©

Options :

686340160093. 1
686340160094. 2
686340160095. 3
686340160096. 4

Question Number : 24 Question Id : 68634040538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



sy RIS

YT 1 - e T & Iy @S Adcaed YRd & aigay Ul

FUA 11 : Fia5 R Tl H g ardd YR A1 [A818 1946 1 HRUIIEW 2850 Adl & YR Aifds!
SR ISR & favg fasar a1 fasie uil

IWRIE HYF & D H, Aid fGU 70 fadbedl I 9 Ig IR & 944 B

1. PYT I AR IS 9 &
YT AR S ST T

HYTI A . AfpT pYT I A ©

[ ]

L&)

HYTI T . dfpT U I g

H

Options :

686340160093. 1
686340160094. 2
686340160095. 3
686340160096. 4

Question Number : 25 Question Id : 68634040539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ugp s 113 SIR SR <l 7 urdt o areft gl

1. ot

2. HE- gHGIES
3. BIEgIor
S

Options :

686340160097. 1

686340160098. 2

686340160099. 3
686340160100. 4

)

Question Number : 25 Question Id : 68634040539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UIplad 19 SR I < H Ul 9 arett 9 gl
1. e
3. BIEgIeH
1. g
Options :
686340160097. 1
686340160098. 2

686340160099. 3
686340160100. 4

[ ]

Part B: Painting

Section Id : 686340798
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401336
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634040540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
8H the hardest to 8B safest-1t i related to
1. Soft pastels

-

2. Oil pastels

LN}

. Graphite pencils
4. Pen & ink

Options :

686340160101. 1
686340160102. 2
686340160103. 3
686340160104. 4



Question Number : 26 Question Id : 68634040540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$H BRI ¥ 8B AT [Hos Gaid g

1. garay Ued
2. da Ued

3, Uwree gia
4, T 3R =TEt

Options :

686340160101. 1
686340160102. 2
686340160103. 3
686340160104. 4

Question Number : 27 Question Id : 68634040541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The most prized blue was ultramarine. made from

1. Blue sapphire
2. Indigo plant
3. Animal bones
4. Lapis Lazuli

Options :

686340160105. 1

686340160106. 2

686340160107. 3
686340160108. 4

Question Number : 27 Question Id : 68634040541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Had Heudl- SIFd! e SfegmRi o1 {68 §-mar mar o -
1. 7181 1l &
2. e 1 Hier
3. A g3l

4. QIS Tl

Options :

686340160105. 1
686340160106. 2
686340160107. 3
686340160108. 4

Question Number : 28 Question Id : 68634040542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What do we mean by translucency of color

1. One cannot see through them

2

. One can see through them
3. One can feel the texture in them
4. One can feel the smoothness in them
Options :
686340160109. 1
686340160110. 2

686340160111. 3
686340160112. 4

Question Number : 28 Question Id : 68634040542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a7 H oIy 3 @1 Al 82

IS U T 9 TE S ol §

DTS G T Y 3T GHaI 8

3. @15 59 a1G¢ &I Ao Y $R 9@l o

—

| B

A, T SHH IR H5Yd P2 IDdl &

Options :



686340160109. 1
686340160110. 2
686340160111. 3
686340160112. 4

Question Number : 29 Question Id : 68634040543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Conte rayons have been named after French scientist-

1. Palazzo Conte

12

. Nicolas Jacques Conte
3. Nicolas Kage Conte
4. Antonio Corregio Conte

Options :

686340160113. 1
686340160114. 2
686340160115. 3
686340160116. 4

Question Number : 29 Question Id : 68634040543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Wikt agnfae & 9 R @i feur &1 = fear
1. gaTssl di=d

2. g uieg T

s T

3. FEag o i

4. Tl HRE $id

Options :

686340160113. 1
686340160114. 2
686340160115. 3
686340160116. 4

Question Number : 30 Question Id : 68634040544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cave No 4 in Bagh cave pamntings is also known as

1. Ring Gufa

J

. Ring Mahal
3. Kala Mahal

4. Kala Gufa

Options :

686340160117. 1
686340160118. 2
686340160119. 3
686340160120. 4

Question Number : 30 Question Id : 68634040544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&9 P13 BT . 4 B 4T & g =19 | A1 S 3
1. TP
AT HET

| B

3. &l Hed

4, HAIHI

Options :

686340160117. 1
686340160118. 2
686340160119. 3
686340160120. 4

Question Number : 31 Question Id : 68634040545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lepakshi Paintings were executed on:

1. Walls of sittanavasal cave

-2

. Ceilings of Kailasha temple

Lad

. Walls of Jogimara cave
4, Veerabhadra temple walls

Options :
686340160121. 1



686340160122. 2
686340160123. 3
686340160124. 4

Question Number : 31 Question Id : 68634040545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
caraft afés fHsarfed feu e .
1. Rraarga o1 ki &R
2, PO IR & BA W
3. SfERT & ffd oe
4. ARYg HigR TR W
Options :
686340160121. 1
686340160122. 2

686340160123. 3
686340160124. 4

Question Number : 32 Question Id : 68634040546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In 1846, the first water colours in tubes were introduced by:

1. Winson and Newton

J

. William Reeves
3. Camline
4. Vincent Vangaugh

Options :

686340160125. 1
686340160126. 2
686340160127. 3
686340160128. 4

Question Number : 32 Question Id : 68634040546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1846 H, Ugcll IR SleR &d fbyd g1 % foar mar.
1. fdeR 3R =ge=
2. fafergm fra=
3. HHC
4, fade g T

Options :

686340160125. 1
686340160126. 2
686340160127. 3
686340160128. 4

Question Number : 33 Question Id : 68634040547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which kind of brush considered the best for water colours-
1. Hog
2. Horse
3. Sable

4, Camel

Options :

686340160129. 1
686340160130. 2
686340160131. 3
686340160132. 4

Question Number : 33 Question Id : 68634040547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wd W E U f59 PR & 99 & Gatay o1 Sl &
1L Yg3R
2. 91T
3. 999
4.3¢

Options :
686340160129. 1



686340160130. 2
686340160131. 3
686340160132. 4

Question Number : 34 Question Id : 68634040548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The surface of painting is known ag-
1. Supports and grounds
2. Paper and Canvas

3. Wall and floor

4. Hard and soft

Options :

686340160133. 1
686340160134. 2
686340160135. 3
686340160136. 4

Question Number : 34 Question Id : 68634040548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

REea & YR & F9 H SH1 95 8-
. R AR YR

—

UR R a9

| S

3, ZlaR IR 9=

4, R 3R geray

Options :

686340160133. 1
686340160134. 2
686340160135. 3
686340160136. 4

Question Number : 35 Question Id : 68634040549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gouache 1s

1. Transparent

| §)

. Opaque
3. Transculance
4, Alla Prima
Options :
686340160137. 1
686340160138. 2

686340160139. 3
686340160140. 4

Question Number : 35 Question Id : 68634040549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T (T §
1. IREYS
. Sy
. dS-URaLH
4. 3{TC WA

| S

LY ]

Options :

686340160137. 1
686340160138. 2
686340160139. 3
686340160140. 4

Question Number : 36 Question Id : 68634040550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Balance. emphasis. thythm. unity and contrast are-
1. Principles of painting
2. Elements of pamting
3. Surface of pamnting

4. Technique of painting

Options :
686340160141. 1



686340160142. 2
686340160143. 3
686340160144. 4

Question Number : 36 Question Id : 68634040550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. HAURT. 0, 5Pl SR faumarg
1. feprenen &y Risid
EFd & da

[ 3]

REECNIEIERE

4, TS o T Ugid

L]

Options :

686340160141. 1
686340160142. 2
686340160143. 3
686340160144. 4

Question Number : 37 Question Id : 68634040551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Gouache color has been traditionally used for:

1. Indian miniatures

12

. Phad painting
3. Cave painting
4. Wash paimting

Options :

686340160145. 1
686340160146. 2
686340160147. 3
686340160148. 4

Question Number : 37 Question Id : 68634040551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e ¥ URURS T4 3 U 8T e

1. YRdg Ty &
2. s fEda
3. 7] e
4, arer fEEar

Options :

686340160145. 1

686340160146. 2

686340160147. 3
686340160148. 4

Question Number : 38 Question Id : 68634040552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Between the flat and the rounds brushes known as:
1. Fan brushes
2. Hard brushes

3. Filbert brushes

4. Soft brushes

Options :

686340160149. 1
686340160150. 2
686340160151. 3
686340160152. 4

Question Number : 38 Question Id : 68634040552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el SR IIe S S Sl 6
1. A e
2. TOREW
3. fpead 59
4. HefldH €31

Options :



686340160149. 1
686340160150. 2
686340160151. 3
686340160152. 4

Question Number : 39 Question Id : 68634040553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pastels-sticks of colour bound with -

1. Gum or resin

12

. Glue

LF5]

. Egg volk
4, Linseed

Options :

686340160153. 1
686340160154. 2
686340160155. 3
686340160156. 4

Question Number : 39 Question Id : 68634040553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T H Y Ted Sol suT el 6
1. 779 SR YfeH

=

2.7Tlg
3. 318 Bt el
4. [AiRkrs

Options :

686340160153. 1
686340160154. 2
686340160155. 3
686340160156. 4

Question Number : 40 Question Id : 68634040554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Lithograph poster artist

1. Edgar Degas

2

. Camille Pissarro
3. Auguste Renoir

4. Toulouse-Lautrec

Options :

686340160157. 1
686340160158. 2
686340160159. 3
686340160160. 4

Question Number : 40 Question Id : 68634040554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[eTITTeT UReR HeaR
1. USTR &7
2. iyt R
3. T AR
4. qII-SIHASD

Options :

686340160157. 1
686340160158. 2
686340160159. 3
686340160160. 4

Question Number : 41 Question Id : 68634040555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Michel Eugene chevreul's theory underpinned the painter's use of colour in the late 19% .
1. Renaissance
2. Dadaism
3. English Watercolourists
4. Impressionist

Options :
686340160161. 1



686340160162. 2
686340160163. 3
686340160164. 4

Question Number : 41 Question Id : 68634040555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
10 o Trarsat & 3id o fele goii Yaved - ¥ & [HFeR Suar &l wifed g
1. GTOITROT &Ta
2. qlaldiq
3. 31T et T !
4. UHTddig

Options :

686340160161. 1
686340160162. 2
686340160163. 3
686340160164. 4

Question Number : 42 Question Id : 68634040556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
When a primary and secondary are mixed together. they make a

1. Primary colour
2. Secondary colour
3. Tertiary colour
4. Translucence

Options :

686340160165. 1

686340160166. 2

686340160167. 3
686340160168. 4

Question Number : 42 Question Id : 68634040556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TUtHe R fidis s/ I i R e
1. WY T
fedigs
3. qdige &1
4. HS-UREY®H
Options :
686340160165. 1
686340160166. 2

686340160167. 3
686340160168. 4

[ ]

Question Number : 43 Question Id : 68634040557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who created color wheel-

1. Nam June Paik

[

. Eric Gill

3. Brian Clarke

s

. Michel Eugene Chevreul
Options :

686340160169. 1

686340160170. 2

686340160171. 3
686340160172. 4

Question Number : 43 Question Id : 68634040557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. AT O UIg®
2. U@ g
3. SO T

4. e goi Qg

Options :



686340160169. 1
686340160170. 2
686340160171. 3
686340160172. 4

Question Number : 44 Question Id : 68634040558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

V-shape and Gouges used for:

1. Silk screen

b2

. Metal craft

L]

. Lithography

. Wood cut

FEN

Options :

686340160173. 1
686340160174. 2
686340160175. 3
686340160176. 4

Question Number : 44 Question Id : 68634040558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dl. @R PR e 1 WET gl
1, es Tl
2. 41g frey
3. ferdtamet
4. 98 Be

Options :

686340160173. 1
686340160174. 2
686340160175. 3
686340160176. 4

Question Number : 45 Question Id : 68634040559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Acrylics were developed in the-

1. 1940s

2

19205
3. 1900s
4. 1890s

Options :

686340160177. 1
686340160178. 2
686340160179. 3
686340160180. 4

Question Number : 45 Question Id : 68634040559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

Uchieieh o1 fadh T §3fl

1. 1940s

| )

19205

. 1900s

LN

4. 18905

Options :

686340160177. 1
686340160178. 2
686340160179. 3
686340160180. 4

Question Number : 46 Question Id : 68634040560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Oil paints the medium is a vegetable oil that dries naturally when exposed to air- which oil not good for
this-

1. Lingeed o1l

[ ]

. Poppy seed oil

. Olive o1l

[F¥]

4. Walnut il

Options :
686340160181. 1



686340160182. 2
686340160183. 3
686340160184. 4

Question Number : 46 Question Id : 68634040560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oI T H1eH U 99Eid o § ol gal o 99 H 3 T WIHIide &Y 9 ¥@ §Idl 5. Sl dd $9 [y
1Tl 6
1. fRifs da
2. il & dd
3. Hifere sffged / dd
4. 3ERIE A9

Options :

686340160181. 1
686340160182. 2
686340160183. 3
686340160184. 4

o

Question Number : 47 Question Id : 68634040561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In paintings- medieval and early renaissance artists only had one media option-

1. Oil colour on panel

2. Water colour on paper

LN}

. Egg tempera on panel (wood)
4. Encaustic on cloth

Options :

686340160185. 1
686340160186. 2
686340160187. 3
686340160188. 4

Question Number : 47 Question Id : 68634040561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 3R URMEE GHoTRY SAGR 0l § Sad U 91 &l [ddbed of
1. U978 IR 9 T
2. TR R S T
3. 099 (APal) U U CHR]

4, IS R TATDIS

Options :

686340160185. 1
686340160186. 2
686340160187. 3
686340160188. 4

Question Number : 48 Question Id : 68634040562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Aerial perspective- also called

1. Foreshortening

2

. Overlapping

[F¥]

. Atmospheric perspective
4. One point perspective

Options :

686340160189. 1

686340160190. 2

686340160191. 3
686340160192. 4

Question Number : 48 Question Id : 68634040562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HPRIT Rvied ot HET ST §
1. BRI
2. fiaR @l / SifderH
3. AgHS S
4.7 fdg eI

Options :



686340160189. 1
686340160190. 2
686340160191. 3
686340160192. 4

Question Number : 49 Question Id : 68634040563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The medium of Ajanta painting was
1. Gouache
2. Tempera
3. Soft pastels

4, Water colour

Options :

686340160193. 1
686340160194. 2
686340160195. 3
686340160196. 4

Question Number : 49 Question Id : 68634040563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STl AP dl & 19 ©
1. 7T
2. TER]

3. gorH / Hite Uk
-

Options :

686340160193. 1
686340160194. 2
686340160195. 3
686340160196. 4

Question Number : 50 Question Id : 68634040564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is Azurite?

—

. Purplish blue pigment

| B

. Greenish blue pigment
3. Blue pigment
4. Black pigment

Options :

686340160197. 1
686340160198. 2
686340160199. 3
686340160200. 4

Question Number : 50 Question Id : 68634040564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHORISE T ©
1. gRgferg e 3
B PIETNIE!
3, =ar 3
4. BTl 4T
Options :
686340160197. 1
686340160198. 2

686340160199. 3
686340160200. 4

Question Number : 51 Question Id : 68634040565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prints from which country had a great influence on Van Gogh?

1. China

2. India
3. Japan

4, Paris

Options :
686340160201. 1



686340160202. 2
686340160203. 3
686340160204. 4

Question Number : 51 Question Id : 68634040565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ftic @1 g w1 5/ S2 &1 917 7 IR 9gd UHId U3
1.9

[ )

3, W9
4. Ul

Options :

686340160201. 1
686340160202. 2
686340160203. 3
686340160204. 4

Question Number : 52 Question Id : 68634040566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

such as engravings and etchings. are passed through rollers like a mangle and ink 15 forced into
mcised furrows

[

. Relief print

| ]

. Intaglio prints

LFY]

. Planography

e

. Digital prints

Options :

686340160205. 1
686340160206. 2
686340160207. 3
686340160208. 4

Question Number : 52 Question Id : 68634040566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o1 B Feb 101 AR TFHTI H ITH & T T T ST € SR TR B Il / I & T @l
gfgd o STe oar g2
1. e fife

ety

3, AT

4. fefoea fie
Options :
686340160205. 1
686340160206. 2

686340160207. 3
686340160208. 4

| E)

Question Number : 53 Question Id : 68634040567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Art 18 not used for which of the following
1. Beautification

2. Decoration

3. Cyvility

4. Discipline
Options :
686340160209. 1
686340160210. 2

686340160211. 3
686340160212. 4

Question Number : 53 Question Id : 68634040567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g8 o frgds fore oar &1 wanT el foear e -

2. 99ilde

)



Options :

686340160209. 1
686340160210. 2
686340160211. 3
686340160212. 4

Question Number : 54 Question Id : 68634040568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who was the artist known for his etching?

1. Henri de Toulouse-Lautrec

-~

2. Jasper John
3. Rembrandt

4. Frans Masereel

Options :

686340160213. 1
686340160214. 2
686340160215. 3
686340160216. 4

Question Number : 54 Question Id : 68634040568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®IF I HAGR T & fou s Srar g

1. 8- qqol-aldd®
2. SR ©F
3.3l

4. 1Y BT

Options :

686340160213. 1
686340160214. 2
686340160215. 3
686340160216. 4

Question Number : 55 Question Id : 68634040569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Virupaksa temple at Hampi has murals representing episodes from the-

1. Mahabharata and Ramayana

2

. Geet Govind and Mahabharta
3. Rigved and Yajurved
4. Ragmala and Bhagwat Geeta
Options :
686340160217. 1
686340160218. 2

686340160219. 3
686340160220. 4

Question Number : 55 Question Id : 68634040569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy wfex o gt  fud & guo fufa El | foge e g
. OETHIRT 3{1 =70

2. i Mid= iR ge1yRd

ik

3. 745 3R U9aG
4. ITHTAT 3R Yaerar

Options :

686340160217. 1
686340160218. 2
686340160219. 3
686340160220. 4

Question Number : 56 Question Id : 68634040570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Simplest form of perspective is

1. One pomt perspective

J

. Multiple-point perspective
3. Bud eve view
4. Open eye view

Options :
686340160221. 1



686340160222. 2
686340160223. 3
686340160224. 4

Question Number : 56 Question Id : 68634040570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URUEY BT IRATH Y 6-

.U fdg uRbiey

. UwTY® / agu fag aivtem

3. 99 3G ¥ gaT

4, gl 3{%g 9 @1

—_
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Options :

686340160221. 1
686340160222. 2
686340160223. 3
686340160224. 4

Question Number : 57 Question Id : 68634040571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Water based paint is-

1. 01l

[

. Gouache
3. Pastel

4. Gouache and Pastel

Options :

686340160225. 1
686340160226. 2
686340160227. 3
686340160228. 4

Question Number : 57 Question Id : 68634040571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR iR HaR 8
1.

T

3. U%ed

4,711 3R Ued

Options :

686340160225. 1
686340160226. 2
686340160227. 3
686340160228. 4

| S

Question Number : 58 Question Id : 68634040572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The Tub-Pablo Picasso
B. The tub-Edgar Degas
C. The Tub-Manet

D. The Tub-Monet

Choose the correct answer from the options given below:

1. Aonly
2. B only
3. C only
4. D only

Options :

686340160229. 1

686340160230. 2

686340160231. 3
686340160232. 4

Question Number : 58 Question Id : 68634040572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A € TF - Uredl Ut
B.§eg- TSR &
c.g¢d- OF
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Options :

686340160229. 1
686340160230. 2
686340160231. 3
686340160232. 4

Question Number : 59 Question Id : 68634040573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Edgar Degas I |Women at the river
B. |Paul Gaugin II. |5t Jerome n his study
C. [Francisco Gova | [I1. MMarry Cassatt at the Louvien: paintings gallery.
D. [Durer IV. [Wavs of flving.

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-1I. D-IV

| B

. A-IIL B-I. C-IV. D-II
3. A-l, B-IL C-IL, D-IV
4. A-1. B-III, C-IV, D-II

Options :

686340160233. 1
686340160234. 2
686340160235. 3
686340160236. 4

Question Number : 59 Question Id : 68634040573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=it 1 T g 11 ¥ faH S

Tl 1 = 11
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Fafafad fdeedl § ¥ 98t GoR &1 99+ Sifulu -

1. A-IIL B-1. C-1I1. D-IV

| B

CA-IILL B-LL C-IV. D-II
3. A-L B-II1. C-II, D-IV
4. A-1, B-IL, C-TV. D-1I

Options :

686340160233. 1

686340160234. 2

686340160235. 3
686340160236. 4

Question Number : 60 Question Id : 68634040574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Form can be understood as-

1. The shape and structure of a work of Art

-2

. Colour palette of a work of Art

L5}

. Textual quality of a work of Ast

=y

: HE’IHIIOII}-' and contrast

Options :

686340160237. 1
686340160238. 2
686340160239. 3
686340160240. 4

Question Number : 60 Question Id : 68634040574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 9999 3R faumd

Options :

686340160237. 1
686340160238. 2
686340160239. 3
686340160240. 4

Question Number : 61 Question Id : 68634040575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Artists are Maxtaposition to create

1. Harmony

-2

. Texture

3. Flow

o

. Conpansion or contrast

Options :

686340160241. 1
686340160242. 2
686340160243. 3
686340160244. 4

Question Number : 61 Question Id : 68634040575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HATPR [HHD G P (o0 HFHTUITTRA BT TN B 6 -
1. g/ g

. §1I9c

[ ]

3. Hdle

4. =1 1 fawad

Options :
686340160241. 1



686340160242. 2
686340160243. 3
686340160244. 4

Question Number : 62 Question Id : 68634040576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Acrylic 1s-
1. A fast drying water-based medium
2. A slow drying water-based medium
3. An organic colour pigment
4. A fast drying oil-based medium
Options :
686340160245. 1
686340160246. 2

686340160247. 3
686340160248. 4

Question Number : 62 Question Id : 68634040576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160245. 1
686340160246. 2
686340160247. 3
686340160248. 4

Question Number : 63 Question Id : 68634040577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fresco Secco is the technique of-

1. Miniature art

]

. Printmaking

3. Mural Painting where paint 1s applied to dry plaster

e

. Mural painting where paint 1s applied to dump plaster

Options :

686340160249. 1
686340160250. 2
686340160251. 3
686340160252. 4

Question Number : 63 Question Id : 68634040577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160249. 1
686340160250. 2
686340160251. 3
686340160252. 4

Question Number : 64 Question Id : 68634040578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hue can be defined as-

—

. A pure colour with a specific wavelength
2. A zecondary colour with specific wavelength
3. Lightness of colour

4. Darlmess of colour

Options :
686340160253. 1



686340160254. 2
686340160255. 3
686340160256. 4

Question Number : 64 Question Id : 68634040578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160253. 1
686340160254. 2
686340160255. 3
686340160256. 4

Question Number : 65 Question Id : 68634040579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Impasto is-

1. The thick application of paint on a surface

-

2. A water colour Brand
3. A print making technique
4. A famous poet of England

Options :

686340160257. 1
686340160258. 2
686340160259. 3
686340160260. 4

Question Number : 65 Question Id : 68634040579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4, STUS &1 U Uliig ga-
Options :
686340160257. 1
686340160258. 2

686340160259. 3
686340160260. 4

ik

[ ]

Question Number : 66 Question Id : 68634040580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
A |Engraving B |Nitric Acid
B. [Sengraphy II. [Lime Stone
C. [Etching IIl. Burin
D. [Lithographyv IV, |Squeeze

Choose the correct answer from the options given below:

1. A-IV. B-III. C-1. D-II

| B

AL B-I1L C-IIIL, D-IV
3. A-III. B-IV. C-L. D-II
4. A-IV. B-II1. C-II. D-I

Options :

686340160261. 1
686340160262. 2
686340160263. 3
686340160264. 4

Question Number : 66 Question Id : 68634040580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV. B-III. C-I1. D-II

ofo]w[x

| B

cA-L B-II. C-II1L D-IV
3. A-III. B-IV. C-1. D-I1
4. A-IV. B-1II. C-II. D-I

Options :

686340160261. 1
686340160262. 2
686340160263. 3
686340160264. 4

Question Number : 67 Question Id : 68634040581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTH
Lithography I |Relief printing
Metal engraving | 1. [Planography
Wood engraving | IIL. [Intaglic
Silk screen IV, |Stencil printing

ofofw[>

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III, D-IV

| B

CA-IL B-III, C-1L, D-IV
3. A-IV. B-III. C-L. D-IT
4. A-I1, B-1. C-II1, D-IV

Options :

686340160265. 1
686340160266. 2
686340160267. 3
686340160268. 4



Question Number : 67 Question Id : 68634040581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-IIL. D-IV

ofo[w]x

| B

CA-ITL B-IILL, C-1, D-IV
3. A-IV. B-III, C-I, D-II
4. A-Il. B-1, C-1II, D-IV

Options :

686340160265. 1
686340160266. 2
686340160267. 3
686340160268. 4

Question Number : 68 Question Id : 68634040582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Pesh I PMezzotint
B. [Rossin II. |[Litho
C. |Braver I |Silk screen
D. [Rocker IV, |Aquatint

Choose the correct answer from the options given below:

1. A-II, B-III. C-IV, D-I

| B

. A-L B-III. C-IV. D-II
3. AL B-IV. C-I1, D-1
4. A-IIT, B-IV. C-1, D-II

Options :

686340160269. 1

686340160270. 2
686340160271. 3



686340160272. 4

Question Number : 68 Question Id : 68634040582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II. B-III. C-IV. D-1

| B

CA-L B-IILL C-IV. DAIT
3. A-IIT, B-IV. C-II. D-I
4. A-IIL B-IV. C-I. D-II

Options :

686340160269. 1
686340160270. 2
686340160271. 3
686340160272. 4

Question Number : 69 Question Id : 68634040583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: Kerala painters evolved a pictorial language and technique of their own. while discriminately
adopting certain stulistic elements from Nayaka and Viyjayanagara school.

Reason R: The Kerala mural painters evolved a language taking cues from contemporary traditions, like
Kathakali and Kalyan ezhuthu traditions

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 18 NOT the correct explanation of A
3. As true but R 1s false
4. A s false but R 1s true

Options :

686340160273. 1

686340160274. 2

686340160275. 3
686340160276. 4

Question Number : 69 Question Id : 68634040583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160273. 1
686340160274. 2
686340160275. 3
686340160276. 4

Question Number : 70 Question Id : 68634040584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason B

Assertion A: Dry point is the simplest and most direct of the Intaglio process.

Reason R: Dry point is an interesting introduction to working on metal. especially if you have limited access
to printmaking facilities.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A1s correct but R is not correct

4. A 15 not correct but R is correct

Options :

686340160277. 1
686340160278. 2
686340160279. 3
686340160280. 4

Question Number : 70 Question Id : 68634040584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 2 T U U §: U THEHUT (Assertion A) F EU H IR § O G¥RI 39D DRUI (Reason R) &
FO0H:

SFUHYT A: Sl WIEY 1 5 fdg 999 QYR 3R gad Ug 8|

PRI R: [P (6 U1 TR B H3 & [0 T PR U9y ¢. o o et gaor fHafo giaersi
de Hifd uga sl

SURIEd DU & 3fTelie 0, A fu 7 fdeedl ¥ 9 9ad Jugad SR &1 99 Sifog:
1. AR REH Tel ¢ 3R R, AT Tl T ©

| ]

. A 3R R ST W€l § 3R R. AT el @ el &
AT AR IS S ©
L AT TR R AR TS

Options :

686340160277. 1
686340160278. 2
686340160279. 3
686340160280. 4

Lad

Question Number : 71 Question Id : 68634040585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason B

Assertion A: Pattachitra- a traditional painting of Odisha.

Reason R:The name Pattachitra comes from a Sanskrit word patta, which means canvas/cloth and chitra
means picture.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[ O]

. Both A and R are correct but R 13 NOT the correct explanation of A
3. A is correct but R is not correct
4. A 13 not correct but R 1s correct

Options :

686340160281. 1
686340160282. 2



686340160283. 3
686340160284. 4

Question Number : 71 Question Id : 68634040585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 gl ST [4U U &: U THHUT (Assertion A) & EU H AR & ol GIRI 3HD BRUI (Reason R) B
F0H:

STUDBYT A: Ul- ST &1 U WRFH RESR] ¢

TR:WWWW%WG@@ I B, a1 ol Hars / SUsT 8 aul o &7 o =g/
e

SURIEd DU & 3elie §, A iU T fadedl § 9 9ad Sugad IR &1 90+ SifT:
1. AR REH Tl & 3R R. A B ol IR &

2. A SRR G T8l § AR R AP Hel AT 761 &
3. AR e OfP TR WEI TR ©
L AT IR AR TS

Options :

686340160281. 1
686340160282. 2
686340160283. 3
686340160284. 4

Question Number : 72 Question Id : 68634040586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: Vatsyayana in his book Kamasutra mentioned about 6 main Principles/limbs or shadanga of
paintings.

Reason R: Proportion of the object or subject is related to Lavanyayoganam.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[ B

. Both A and R are correct but R 13 NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 13 not correct but R 15 correct

Options :

686340160285. 1
686340160286. 2
686340160287. 3
686340160288. 4

Question Number : 72 Question Id : 68634040586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 gl S [4U U §: U 3HUT (Assertion A) & EU H (AR & ol GERI 3HP DRUI (Reason R) &
0 H

STUFUT A: TR = AT 95 ST § REdal & s yga fSidal/ sl argse & aR 3§
Iy fpar gl

PRI R: A I {4 &1 AU AaUaaiHH 3 S ¢
SRl Y- o 3fTelies H, i< f3u T faedl & 4 9 Suged IR &1 997 DI
1.ASIRREFI T8I & AR R AT Gol A& ©

2. ARREFT I € AR R AT Ut rem AT
L ATEI RO TR EE AR B
LA IR Af R UE B

Options :
686340160285. 1
686340160286. 2



686340160287. 3
686340160288. 4

Question Number : 73 Question Id : 68634040587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sfumato is a techniques involving dramatic contrasts between light and dark. while chiaroscuro
mvolves subtle gradations of tone and soft edges.

Statement II: Sfumato is a technique involving subtle gradations of tone and soft edges. while chiaroscuro
uses dramatic contrasts between light and dark.

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both statement I and Statement IT are correct
2. Both statement I and Statement IT are incorrect
3. Statement [ is correct but Statement I is incorrect

4. Statement I 1s incorrect but Statement IT is correct

Options :

686340160289. 1
686340160290. 2
686340160291. 3
686340160292. 4

Question Number : 73 Question Id : 68634040587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 T ST U §: U ATHHUT (Assertion A) F EG H 1R § 1 GERI 3HP PRI (Reason R) &
0o

STUTYT A: THHIA! 98 TP o (o194 YD 3R e & &9 Ao g a9 g, do) sRERRI H Ial
3R garH [6RI &1 J=99 wRol sidl|

HRUT R: B! 98 db-19 ¢ fordd Uil iR Garad [-R1 1 U=sd R0l 5id]. Saie SR 4
UTRI 3R 38R & o ATed g Il ST Suar gl o

SRIgd U & 3felie O, A fGu U fadeul § 9 9ad Sugad IR &1 99 Sifee:
1. A SRR &M T2 € SRR, A S Hel O §

A SRR & 981 § SR R, A & 6] ST i ©

AT R APTIR G TS ®

4. AR TEI g AP R TEI ©

Options :

686340160289. 1
686340160290. 2
686340160291. 3
686340160292. 4

[ )

[F¥]

Question Number : 74 Question Id : 68634040588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The colours of a Rambow are
A, Orange
B. Yellow
C. Brown

D.Blue
E. Indigo

Choose the correct answer from the options given below:

1.A.B.C.E
2.A,B.DE
3.B.C.D.E
4 A.B.C.D

Options :

686340160293. 1

686340160294. 2

686340160295. 3
686340160296. 4



Question Number : 74 Question Id : 68634040588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EEAICE R

A AT
B. Uil
C.
D. Al
E Al
41 fSU ¢ fasedl § 9 9ol 3wk &1 904 BHifoig;

1A, B CE

[

.A.B.D.E
3.B.C.D.E
4. A.B.C.D

Options :

686340160293. 1
686340160294. 2
686340160295. 3
686340160296. 4

Question Number : 75 Question Id : 68634040589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct groups, where each object of the group is related.

A. Paper stencil, Block out stencil. Shellac stencil. photographic stencil
B. Printing table, Screen Frames, Mesh material, G-clamp

C. Printing table. Pen. Eraser. Book

D. Lacquer stencil. Computer. Printer. Dustor

Choose the correct answer from the options given below:

1. Aand B

J

A B.CandD
3.C.Dand A
4. Only D
Options :

686340160297. 1
686340160298. 2



686340160299. 3
686340160300. 4

Question Number : 75 Question Id : 68634040589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el guy &1 944 o3, [ 905 31 Ude [qugas] 96lid s -

B. GaUl ¢ad ¥hi Iy, B9 A, Sit-aeim
C. g0 ¢qa, U, GOk, J&iS
D. TR LI, prgey, fifed. 3%

e f4u U [doed] § 9 Jol 3R &l 994 BIoil:
1.A3RB
A.B.C3RD
3.C.D3RA
4.%dd D
Options :
686340160297. 1
686340160298, 2

686340160299. 3
686340160300. 4

b2

Question Number : 76 Question Id : 68634040590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which does not belong to perspective and Viewpoint

A. Linear
B. Foreshortening
C. Aeral
D. Low horizon
E. Distortion
Choose the correct answer from the options given below:
1.AB.C.D
2.B,€.D.E
3:AB,DE
4B.AD.E

Options :



686340160301. 1
686340160302. 2
686340160303. 3
686340160304. 4

Question Number : 76 Question Id : 68634040590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S PPl AR evfag 9 dalta 78l @

A fE®
B. UMYl

14 fou U fdeedl | 9 I8! 3TR &1 99 Bifed:

1.LAB.C.D

[ )

B G, DB
3AB,.D.E
4. B.A.D.E

Options :

686340160301. 1
686340160302. 2
686340160303. 3
686340160304. 4

Question Number : 77 Question Id : 68634040591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled ag Reason R

Assertion A: Vibrant and crisp. egg tempera is stable. durable and the colors remain strong

Reason R: Egg dries in minutes, so the artist cannot blend colours on the surface of the picture or use impasto.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R 13 NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

686340160305. 1
686340160306. 2
686340160307. 3
686340160308. 4

Question Number : 77 Question Id : 68634040591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

+id g1 By 3T U B U HUHYT (ASSERTION A) & ¥4 T [d1&d & d 4 39d BRU (REASONR) & ®U T
HTUTYT A - THHIAT HNHUD, S0 TR QR EH il & au 7 et T|d Bl

HRUIR - 31 A # G 9T &, UL SolaR foF &1 Gde W T &1 {01 98] &2 ¥l & 31 9ig auld] &
SO el B Uddi 6 |

SR By & (el |, i 57 70 fadedl & 9 9ad IUgdd IR &1 997 Sy
1. A SR R &I 98I & SR R. A P! Ho| AR &
2. ASIRR &I Tel § HRR. A DI US| ORAT 751 §
3. ATEI R AfTR G R ®
4. ATE TRl APAR I B

Options :

686340160305. 1
686340160306. 2
686340160307. 3
686340160308. 4




Question Number : 78 Question Id : 68634040592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Azurite- Pigment
B. Azurite- Colour
C. Azurite- Surface
D. Azurite- Form

Choose the correct answer from the options given below:

1A

Options :

686340160309. 1
686340160310. 2
686340160311. 3
686340160312. 4

Question Number : 78 Question Id : 68634040592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. ToRTET {50
B. USRTEe-4T
C. USRIge- ¥

D. UoRIZe-§-Ee
A< [Gu 0 [d@ed] § § Tel 31 &1 90 Bl

1.LA

!u.a
™

3.B
4D

Options :

686340160309. 1
686340160310. 2
686340160311. 3
686340160312. 4

Question Number : 79 Question Id : 68634040593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O1l paint can be transparent as well as Opaque. The artist applies thin layers of paint. letting each layer dry
before adding the next. to build up complex. luminous layers of translucent color. This classic use of oil pamt.
known as

1. Glazing

2. Egg tempera

3. Fresco

4. Impassto
Options :
686340160313. 1
686340160314. 2

686340160315. 3
686340160316. 4

Question Number : 79 Question Id : 68634040593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 URERI & HY-H1Y SRR 1l B bl B | SABR T B ged| U Witd Bl 8. S U
I 9 U5 Wdid URd ol G- &dl 6. dliep IRHR {1 &1 wifed. Waied wd Hid &1 st ad | da d &
X IR T CHIESIGIE

1. THD IATH ]

) st :

3, foyfaf=

4. Tig U1 91 TSt g
Options :
686340160313. 1
686340160314. 2

686340160315.3
686340160316. 4

Question Number : 80 Question Id : 68634040594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. The Bodhisatva Padmapani-Cave no 1
B. Hamsa Jataka- Cave no 8

C. Matriposjaka Jataka-Cave no-7

D. Vivantara Jataka- Cave no 16

Choose the correct answer from the options given below:
1A
2.b
3.D
4.C

Options :

686340160317. 1
686340160318. 2
686340160319. 3
686340160320. 4

Question Number : 80 Question Id : 68634040594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. SITERIcd YTUTOL-T[T ST 1
B. 89 Wl - THI1 W1 8

C. ARUNS HTaeh-T%T ST 7
D. faddRT Siide- %1 & 16

Htd fGu U fd@edl § § 9ol 3R &1 99 BIfolu:

1A

2.b
3.D
4.C

Options :

686340160317. 1
686340160318. 2
686340160319. 3
686340160320. 4

Question Number : 81 Question Id : 68634040595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Michelangelo-Chiaroscuro
B. Michelangelo-Sfumato

C. Leonardo-Chiaroscuro

D. Picasso- Impasto

Choose the correct answer from the options given below:

1A

L

C
2D
4.B

Options :

686340160321. 1
686340160322. 2
686340160323. 3
686340160324. 4

Question Number : 81 Question Id : 68634040595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al : oy '\- ] "\.\
B. Hig@cllsicl]- S HId]

. Ferarel- Ry
;.fﬂfﬁ@-@ﬁﬁ

Htd fGu U fd@edl § § 9ol 3R &1 99 BIfolu:

1A

!u.ﬂ
i

3.D
4B

Options :

686340160321. 1
686340160322. 2
686340160323. 3
686340160324. 4

Question Number : 82 Question Id : 68634040596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason B

Assertion A: Tertiary colours are also referred to as analogous colours with respect to the colour wheel.

Reason R: Tertiary colours are situated between the Primary and Secondary colours with respect to the colour
wheel.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

]

. Both A and R are correct but R is NOT the correct explanation of A
3. A1s correct but R is not correct

4. A 15 not correct but R is correct

Options :

686340160325. 1
686340160326. 2
686340160327. 3
686340160328. 4

Question Number : 82 Question Id : 68634040596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

+id g1 @y T3U 10 B: U SHfHHYT (ASSERTION A) & ¥ H [8d € o 59U 34d &RU (REASON R) & U H:
AFUBYT A . 3T 9% T Uy T II0F T &1 Tewg I b eu H ot gefifg e srar g
SRV R : V1 9% & oo H eliges U1, wuiHe 3R fidiges 1 & &g 4 Ra g 81
JURIGd TYH & el 4, A1 60 U fadel & ¥ Ty Iugad IR &l 904 Pifag
1. A 3R REHT ¥E1 3 3R R, A D] T AT B

. A 3R R S W€ & 3R R. A BT G| e el &
AT e AT R IS TE ®
AT TR eI R TR |

Options :

686340160325. 1
686340160326. 2
686340160327. 3
686340160328. 4
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Question Number : 83 Question Id : 68634040597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The development of color printmaking encompasses the struggles of many individuals with
materials and techniques. in their attempt to print color images fully expressive of their ideas.

Statement IT: The development of color printmaking majorly happened in the gth century Europe.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both statement I and Statement IT are correct

[ B

. Both statement [ and Statement II are incorrect

. Statement I is correct but Statement I1 1s incorrect

L¥%]

4. Statement I 1s incorrect but Statement IT 1s correct

Options :

686340160329. 1
686340160330. 2
686340160331. 3
686340160332. 4

Question Number : 83 Question Id : 68634040597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEEAGRIER AN U

FYF 1. T Tl ge0 @1 [der &3 fedl & Tu4 o sf¥edad &al g, e o [3aRi &1 3iF El & geu s
0 H guf Hfeda $ GidR S & H H Wil ok dE-ie] & 91y T

HYF 11 FiH e gau & [der ygaar o odf 9gi 8 Ry o ufed ger|

SR @Y & Helle §, i 3T 77U fawedl & ¥ Ued 3uge 3R &1 904 Sifae
1. B 1 3R 18 9 §
2. BYT 1R I AT T

3. FYTI T &, A YT 13 Ed B

A FYTI T B AfP TPy 198

Options :



686340160329. 1
686340160330. 2
686340160331. 3
686340160332. 4

Question Number : 84 Question Id : 68634040598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The first wood-encased pencils. between 16™ and the late 17%

developed very little.

century pencil manufacture

Statement IT: Although most pencils come 1n a standard 17.5 (7 inch) length.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both statement I and Statement II are true

2. Both statement I and Statement IT are false
3. Statement I 1s true but Statement IT 1s false

4. Statement I is false but Statement II 1s true

Options :

686340160333. 1
686340160334. 2
686340160335. 3
686340160336. 4

Question Number : 84 Question Id : 68634040598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il &l By TG U &
FYF 1 U [AFEfaraif = 16 3R 17 97 981 & I & o9 0y T TIa H1aX0l are ui-gal &1 fqary |
FYF I1: BCD S U 9@ 17.5 (7 59) 96 3 i 8l
IR YA & Helle . A 30 770 faeedl & ¥ Yy IUge IR &1 984 Sifel
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WY 1R 1 TTad 8
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Options :

686340160333. 1
686340160334. 2
686340160335. 3
686340160336. 4

Question Number : 85 Question Id : 68634040599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Paintings of Ajanta expanded in all direction to cover the whole surface of the wall. but the
continuous narrative concept was retained and the resulting complexity immediately imbues the paintings of
Ajanta with a crowded. throbbing vitality.

Statement II: The sequence of painting at Ajanta expanded m all direction and 1s only interrupted
occasionally by an architectural structure or a series of strange cubistic forms which provide barriers between
separate actions and even function as a prop for random images.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both statement [ and Statement II are true

2. Both statement I and Statement IT are false

3. Statement I is true but Statement II 1s false

4. Statement I is falze but Statement IT is true

Options :



686340160337. 1
686340160338. 2
686340160339. 3
686340160340. 4

Question Number : 85 Question Id : 68634040599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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s

Options :

686340160337. 1
686340160338. 2
686340160339. 3
686340160340. 4

Question Number : 86 Question Id : 68634040600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: One of Akbar's most significant contributions was the creation of the Mughal school of painting.
He established a state atelier where about a hundred artists, mostly Hindu worked under the guidance of the
two persian masters.

Statement IT: Akbar established the state atelier only for the Hindu artists, no any other artist from other
regions were allowed there

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both statement I and Statement IT are true
2. Both statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I 15 false but Statement IT is true

Options :

686340160341. 1
686340160342. 2
686340160343. 3
686340160344. 4

Question Number : 86 Question Id : 68634040600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160341. 1
686340160342. 2
686340160343. 3
686340160344. 4

Question Number : 87 Question Id : 68634040601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the unique characteristic of Rembrandt Van Ryn's pamting?

A His interest in details of fabric and jewels

B. Rembrandt's display of chiaroscuro suggests the mood of the painting
C. Rembrandt's artworks are known for their dramatic movement.

D. His focus on real-looking still life painting

E. All of the above

Choose the most appropriate answer from the options given below:

1. E only
2. B only
3. Aonly
4. C only

Options :

686340160345. 1

686340160346. 2

686340160347. 3
686340160348. 4

Question Number : 87 Question Id : 68634040601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160345. 1
686340160346. 2
686340160347. 3
686340160348. 4
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Question Number : 88 Question Id : 68634040602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Amnrita Shergil influenced by-

1. Pahari Miniature painting

2

. Rajput miniature painting

LS

. Ajanta Murals
4. Bhimbetka paintings

Options :

686340160349. 1
686340160350. 2
686340160351. 3
686340160352. 4

Question Number : 88 Question Id : 68634040602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160349. 1
686340160350. 2
686340160351. 3
686340160352. 4

Question Number : 89 Question Id : 68634040603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The technique that utilizes acid in the process of making a plate is called

A. Etching

B. Planography
C. Bitting

D. Serigraphy

Choose the correct answer from the options given below:
1. C only
2. A only
3.B only
4. D only

Options :

686340160353. 1
686340160354. 2
686340160355. 3
686340160356. 4

Question Number : 89 Question Id : 68634040603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. qH==0
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1. $dd C
2. %ad A
3. Had B
4.%ad D

Options :

686340160353. 1
686340160354. 2
686340160355. 3
686340160356. 4

Question Number : 90 Question Id : 68634040604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Engraving dry point and mezzotint can be defined as ' ' technique where acid 1s not required
A. Serigraphy
B. Planography

C. Intaglio
D. Relief printmaking

Choose the correct answer from the options given below:

1. A only

| B

. C only

L¥%]

. B only

4.D only

Options :

686340160357. 1
686340160358. 2
686340160359. 3
686340160360. 4

Question Number : 90 Question Id : 68634040604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

RS U] LS TN TR DR 1 T L I o — & %Y U Uiy a1 & Gebdl 5. o dosiis 4
ST RIS e eIl

A BIYgad R TA
B. T
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1. &ad A
2.%dd C
3.%dd B
4. FFAD
Options :
686340160357. 1
686340160358. 2

686340160359. 3
686340160360. 4

Question Number : 91 Question Id : 68634040605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A medium used to bind pigments- most commonly made from egg yolk, but also from milk a various glue
gum.

A, Oil

B. Acrylic
C. Water
D. Tempera

Choose the most appropriate answer from the options given below:

1. A only

[ ]

. B only
3. C only
4. D only

Options :

686340160361. 1
686340160362. 2
686340160363. 3
686340160364. 4



Question Number : 91 Question Id : 68634040605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160361. 1
686340160362. 2
686340160363. 3
686340160364. 4

Question Number : 92 Question Id : 68634040606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which print making technique 1s also known as inkless intaglio?
A. Collography
B. Monoprint
C. Serigraphy
D. Embossed print

Choose the most appropriate answer from the options given below:

1. A only

J

. D only
3.B only
4. C only

Options :

686340160365. 1

686340160366. 2
686340160367. 3



686340160368. 4

Question Number : 92 Question Id : 68634040606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160365. 1
686340160366. 2
686340160367. 3
686340160368. 4

Question Number : 93 Question Id : 68634040607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Willow charceal used for-

1. Painting

2. Printing

L¥ ]

. Applied
4. Drawing

Options :

686340160369. 1
686340160370. 2
686340160371. 3
686340160372. 4



Question Number : 93 Question Id : 68634040607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160369. 1
686340160370. 2
686340160371. 3
686340160372. 4

Question Number : 94 Question Id : 68634040608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The subject-matter of the paintings as of most of the surviving examples from Ajanta. is the
various lives and incarnations of the Buddha. told in jataka tales.

Statement II: The Artisans and craftsmen who worked at the Ajanta Caves were not aware about any other
religion then Buddhism,

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both statement [ and Statement II are true

2

. Both statement I and Statement II are false

. Statement I is true but Statement II 1s false

L¥¥]

4. Statement I 15 false but Statement II is true

Options :

686340160373. 1
686340160374. 2
686340160375. 3
686340160376. 4



Question Number : 94 Question Id : 68634040608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160373. 1
686340160374. 2
686340160375. 3
686340160376. 4

Question Number : 95 Question Id : 68634040609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LIST I1
A |[Relief I |Stencil
B. [lntaglio II. |Alumimum plate
C. Planographv | III. JAcid
D. |[Serigraphy IV, [Lineleum block

Choose the correct answer from the options given below:
1. A-I. B-1I. C-III, D-IV
2. A-IV. B-III, C-II. D-1I
3. A-IV. B-III, C-1. D-II
4. A-IIL B-TIV. C-1. D-II
Options :
686340160377. 1

686340160378. 2
686340160379. 3



686340160380. 4

Question Number : 95 Question Id : 68634040609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-1L. C-II1. D-IV
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| B

CA-IV, B-1IIL C-I1, D-I
3. A-IV. B-IIL, C-1, D-I1
4. A-IIL B-IV. C-I. D-II

Options :

686340160377. 1
686340160378. 2
686340160379. 3
686340160380. 4

Question Number : 96 Question Id : 68634040610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |5ingle Block method I |Separate blocks for each colour
B [Mult Block method I1. Jused for relief printmaking
C. |Reduction block tnethod | II1. |[Removal of non-printing areas
D. [Linoleum block IV, |Removal of image at every stagsg

Choose the correct answer from the options given below:

1. A-IIIL. B-1. C-11, D-IV

| )

AL B-TV, C-II1L, D-II
3. A-II. B-I. C-IV, D-IT
4. A-1. B-II. C-III, D-IV

Options :
686340160381. 1



686340160382. 2
686340160383. 3
686340160384. 4

Question Number : 96 Question Id : 68634040610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL. B-1. C-1I. D-IV

| B

CA-L B-IV. C-I1L. D-IT
3. A-III. B-I. C-IV, D-IT
4. A-l, B-I1, C-III, D-IV

Options :

686340160381. 1
686340160382. 2
686340160383. 3
686340160384. 4

Question Number : 97 Question Id : 68634040611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled ag Reason R

Assertion A: In intaglio process. the artist next spread ink over the plate. and then wipes off the surface. so
that the ink remains only in the incised design.

Reason R: In intaglio process the printinaker carves a block and ink the remaining flat surface. place a paper
over the block and either hand rubbed or run through a press.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is NOT the correct explanation of A

3. A s true but B 1s false

4, A is false but R is true

Options :

686340160385. 1
686340160386. 2
686340160387. 3
686340160388. 4

Question Number : 97 Question Id : 68634040611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340160386. 2
686340160387. 3
686340160388. 4

Question Number : 98 Question Id : 68634040612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Threatened City 1 |Ramkinkar Bay
B. |[Extension of Desire Il |Arpana Kaur
C. |Call of the Mill IT1. |Gog1 Saroj Pal
D. [Anandit Naika Launching Tropica orange juice | IV. [Jai Zarona

Choose the correct answer from the options given below:

1. A-II. B-1II. C-1. D-IV

| )

CA-IL B-IV, C-1, D-III
3. A-IV. B-III. C-II, D-I
4. A-1, B-II, C-II1, D-IV

Options :

686340160389. 1
686340160390. 2
686340160391. 3
686340160392. 4

Question Number : 98 Question Id : 68634040612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160389. 1
686340160390. 2
686340160391. 3
686340160392. 4

Question Number : 99 Question Id : 68634040613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason B

Assertion A: Brightness is the dimension of colour referred to a scale running from dim to bright.

Reason R: There are four psychological primary hues. each of which has resemblance to others.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

| ]

.Both A and R are true and R 1s NOT the correct explanation of A

L]

. A s true but B is false

4. A s false but B is true

Options :

686340160393. 1
686340160394. 2
686340160395. 3
686340160396. 4

Question Number : 99 Question Id : 68634040613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160393. 1
686340160394. 2
686340160395. 3
686340160396. 4
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Question Number : 100 Question Id : 68634040614 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which technique reproduction of Artworks cannot be done-

1. Sculpture

J

. Pamnting
3. Printmaking
4. Photography

Options :

686340160397. 1
686340160398. 2
686340160399. 3
686340160400. 4

Question Number : 100 Question Id : 68634040614 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160397. 1
686340160398. 2
686340160399. 3
686340160400. 4



